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Question Id : 92090623782 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion hy
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
inaugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoecracy go together. Cole was opposed to the democratie
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Henece, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inclusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recogmized, as
much of human beings as they themselves put into associated effort for a specifie

purpose.”

Sub questions

Question Number : 1 Question Id : 92090623783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement | :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I : A person who represents his locality can be expected to decide
questions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement 1l is true

Options :

92090694001. 1
92090694002. 2
92090694003. 3
92090694004. 4

Question Number : 2 Question Id : 92090623784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ 1s:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090694005. 1
92090694006. 2
92090694007. 3
92090694008. 4

Question Number : 3 Question Id : 92090623785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term "actuate’ from the options given below:

(1) Participating in a particular sphere
(2)  The ability to make good judgements
(3)  Motivate to act in a particular way

(4) Telling

Options :

92090694009. 1
92090694010. 2
92090694011. 3
92090694012. 4

Question Number : 4 Question Id : 92090623786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3)  education (4) bad health

Options :

92090694013. 1
92090694014. 2
92090694015. 3
92090694016. 4

Question Number : 5 Question Id : 92090623787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(iive a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090694017. 1
92090694018. 2
92090694019. 3
92090694020. 4



Question Id : 92090623782 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

According to Cole, the present state, carries with it the marks of its perversion hy
capitalism. Our present feeble attemts, Cole explains in his book Social Theory, to
maugurate democracy in politics are frustrated by the existence of a system
approaching slavery in industry. Not poverty of the masses, but slavery is the curse of
capitalism. Capitalism and demoeraey go together. Cole was opposed to the democratie
system of government as it worked in actual practice. He attacked the system of
territorial representation. A person who represents his locality cannot be expected to
decide questions relating to the relationship between the producers and the
consumers. Hence, Cole advocated the reorganization of society on a functional basis.
When society is organized as a federation of functional organizations, each one
democratically controlled, there will be no place for the present state organization. In
a guild society the functions, which an all- inelusive association may properly be taken
over by co-ordinating bodies more in harmony with the principles of freedom and
funcation which will actuate that societ. Cole writes : “It is impossible to reperesent
human beings as person or centres of consciousness; it is quite possible to represent,
though with an inevitable elements of distrortion which must always be recognized. as
much of human beings as they themselves put into associated effort for a specific

purpose.”

Sub questions

Question Number : 1 Question Id : 92090623783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ¢

Statement | :  According to Colo, the present state, carries with it the marks of
its perversion by capitalism.

Statement I : A person who represents his locality can be expected to decide
questions relating to the relationship between the producers and
the consumers.

In the light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false

(4) Statement [ is false but Statement 1l is true

Options :

92090694001. 1
92090694002. 2
92090694003. 3
92090694004. 4

Question Number : 2 Question Id : 92090623784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘feeble’ 1s:

(1) stupid (2) foolish
(3) sreat (4) Strong
Options :

92090694005. 1
92090694006. 2
92090694007. 3
92090694008. 4

Question Number : 3 Question Id : 92090623785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the meaning of the term "actuate’ from the options given below:

(1) Participating in a particular sphere
(2)  The ability to make good judgements
(3)  Motivate to act in a particular way

(4) Telling

Options :

92090694009. 1
92090694010. 2
92090694011. 3
92090694012. 4

Question Number : 4 Question Id : 92090623786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to Cole, not poverty of the masses, but is the curse of capitalism.
(1) negligence (2) slavery
(3)  education (4) bad health

Options :

92090694013. 1
92090694014. 2
92090694015. 3
92090694016. 4

Question Number : 5 Question Id : 92090623787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
One word substitution:

(iive a misleading account or impression of:

(1) Distort (2) Distress
(3) Distrain (4) Distinet
Options :

92090694017. 1
92090694018. 2
92090694019. 3
92090694020. 4



Sub-Section Number : 2

Sub-Section Id : 920906759
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 92090623788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyo Olymaoic 2020.

(1) Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3) (Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020.
(4)  Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090694021. 1
92090694022 2

92090694023. 3
92090694024. 4

Question Number : 6 Question Id : 92090623788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct passive voice for the sentence given below:
Neeraj Chopra won gold medal in the Tokyo Olymoic 2020.

(1)  Gold medal won by Neeraj Chopra in the Tokyo Olympic 2020.
(2)  Gold medal hed been won by Neera) Chopra in the Tokyo Olympic 2020.
(3)  Gold medal was won by Neeraj Chopra in the Tokyo Olympic 2020,
(4)  Gold medal has been won by Neeraj Chopra in the Tokyo Olympie 2020.
Options :
92090694021. 1
92090694022. 2

92090694023. 3
92090694024. 4



Question Number : 7 Question Id : 92090623789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2)  Riva aske how can she do such a foolish mistake.
(3)  Riya suggerted how she can do such a foolish mistake.

(4)  Riva thought how she could do such a foolish mistake.

Options :

92090694025. 1
92090694026. 2
92090694027. 3
92090694028. 4

Question Number : 7 Question Id : 92090623789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct speech for the sentence given below. Riva said,
“How can I do such a foolish mistake™?

(1)  Riva told how could she do such a foolish mistake.
(2)  Riva aske how can she do such a foolish mistake.
(3)  Riya suggerted how she can do such a foolish mistake.

(4)  Riva thought how she could do such a foolish mistake.

Options :

92090694025. 1
92090694026. 2
92090694027. 3
92090694028. 4

Question Number : 8 Question Id : 92090623790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of P, , R, 5, to create a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

Q: subjects or voice that responds

R: is a dialogue of speaking

=: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090694029. 1
92090694030. 2
92090694031. 3
92090694032. 4

Question Number : 8 Question Id : 92090623790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct order of P, Q, R, 5, to create a meaningful sentence:
A sequence of utterences

P: anticipate the future ones

(): subjects or voice that responds

R: 1s a dialogue of speaking

5: to former utterances and

(1) PQRS (2) RQSP
(3) QSPR (4) QPSR
Options :

92090694029. 1
92090694030. 2
92090694031. 3
92090694032 4

Question Number : 9 Question Id : 92090623791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2)  You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :

92090694033. 1
92090694034. 2
92090694035. 3
92090694036. 4

Question Number : 9 Question Id : 92090623791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) You haven't seen the film, haven't you?
(2)  You haven't seen the film, did you?
(3)  You haven't seen the film, have you?

(4) You haven't seen the film, do you?

Options :

92090694033. 1
92090694034. 2
92090694035. 3
92090694036. 4

Question Number : 10 Question Id : 92090623792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an ervor.
(1) Arushi is weak in Maths
(2) and do not understand the

(3)  calculations

(4)  though her mother explains her repeatedly.

Options :



92090694037. 1
92090694038. 2
92090694039. 3
92090694040. 4

Question Number : 10 Question Id : 92090623792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find out which part of the following sentence has an ervor.

(1) Arushi is weak in Maths
(2) and do not understand the
(3)  calculations

(4)  though her mother explains her repeatedly.

Options :

92090694037. 1
92090694038. 2
92090694039. 3
92090694040. 4

Question Number : 11 Question Id : 92090623793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the correct combination of the member of “QUAD".

(A) India

(B) Vietman

(C) Japan

(D)  Austraha

(E) USA

(F) South Korea

Choose the correct answer from the options given helow :

(1) (A, (B).(C), (D)
(2) (A, (D), (E), (F)
(3) (A (B), (E), (F)
(4) (A, (€), (D), (E)



Options :

92090694041. 1
92090694042. 2
92090694043. 3
92090694044. 4

Question Number : 11 Question Id : 92090623793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct combination of the member of “"QUAD".

(A) India

(By Vietman

(C) Japan

(D) Australia

(E) USA

(F) South Korea

Choose the correct answer from the options given helow :

(1) (A). ([B). (C), (D)
(2) (A, (D), (E), (F)
(3) (). (B), (E), (F)
(4)  (A), (€), (D), (E)

Options :

92090694041. 1
92090694042. 2
92090694043. 3
92090694044. 4

Question Number : 12 Question Id : 92090623794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor player
(3) Tabla player (4) Esraj player
Options :

92090694045. 1



92090694046. 2
92090694047. 3
92090694048. 4

Question Number : 12 Question Id : 92090623794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shiv Kumar Sharma who passes away recently was a:

(1)  Flute player (2) Santoor plaver
(3)  Tabla player (4) Esraj player
Options :

92090694045. 1
92090694046. 2
92090694047. 3
92090694048. 4

Question Number : 13 Question Id : 92090623795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[n which Indian state Gangaur Festival 15 predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka
Options :

92090694049. 1
92090694050. 2
92090694051. 3
92090694052. 4

Question Number : 13 Question Id : 92090623795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which Indian state Gangaur Festival is predominantly celebrated:

(1) West Bangal (2) Punjab
(3) Rajasthan (4) Karnataka

Options :



92090694049. 1
92090694050. 2
92090694051. 3
92090694052 4

Question Number : 14 Question Id : 92090623796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Minmistry 1s associated with the Citizenship (Amendment) Act, 2019?

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Mimistry of Housing and Urban Affairs
(4)  Mimstry of Home Affairs

Options :

92090694053. 1
92090694054. 2
92090694055. 3
92090694056. 4

Question Number : 14 Question Id : 92090623796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which Union Minmistry 1s associated with the Citizenship (Amendment) Act, 2019?

(1) Ministry of External Affairs

(2) Ministry of Defence

(3) Mimistry of Housing and Urban Affairs
(4)  Mimstry of Home Affairs

Options :

92090694053. 1
92090694054. 2
92090694055. 3
92090694056. 4

Question Number : 15 Question Id : 92090623797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3) Aam Aadmi Party (4) Apna Dal
Options :

92090694057. 1
92090694058. 2
92090694059. 3
92090694060. 4

Question Number : 15 Question Id : 92090623797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Election Commission of India (ECI) has decided to freeze the election symbol of
which of the following party?

(1) Lok Janshakti Party (2) Dravida Munnetra Kazhagam
(3 Aam Aadmi Party (4) Apna Dal
Options :

92090694057 1
92090694058. 2
92090694059. 3
92090694060. 4

Question Number : 16 Question Id : 92090623798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row 15 26t and
the position of Vineeta from the right side of the row is 234, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090694061. 1
92090694062 2
92090694063. 3



92090694064. 4

Question Number : 16 Question Id : 92090623798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a row of students, the position of Vineeta from the left side of the row 15 26t and
the position of Vineeta from the right side of the row 1s 234, Find the total number of
students in the row?

(1) 46 (2) 47
(3) 48 (4) 49
Options :

92090694061. 1
92090694062. 2
92090694063. 3
92090694064. 4

Question Number : 17 Question Id : 92090623799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E)y 942

Choose the correct answer from the options given below :

(1) (A), (E), (B), (C), (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, B). D). (E). (C)
(4)  (E), (A), (C). (B). (D)

Options :

92090694065. 1
92090694066. 2
92090694067. 3



92090694068. 4

Question Number : 17 Question Id : 92090623799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

After interchanging the first and last digits in each of the following numbers, identify
the correct sequence of number in the ascending order.

(A) 146
(B) 453
(C) 678
(D) 254
(E)y 942

Choose the correct answer from the options given below :

(1) (A), (E), (B). (C). (D)
(2)  (C), (B), (D), (A). (C)
(3 (A, B). D). (E). (C)
(4 (E), &), (C), (B). (D)

Options :

92090694065. 1
92090694066. 2
92090694067. 3
92090694068. 4

Question Number : 18 Question Id : 92090623800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit, Bipin, Chandan, Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
is on the left end of the beach. Chandan is on the second position from the right. Amit
15 to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who 15 in
the centre?

(1) Dinesh (2) Chandan
(3 Amit (1) Bipin
Options :

92090694069. 1



92090694070. 2
92090694071. 3
92090694072. 4

Question Number : 18 Question Id : 92090623800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five friends Amit, Bipin, Chandan. Dinesh and Edwin are sitting on a beach. Amit is
sitting next to Bipin, Chandan is sitting next to Dinesh is not sitting with Edwin who
15 on the left end of the beach. Chandan 1s on the second position from the right. Amit
15 to the right of Bipin and Edwin. Amit and Chandan are sitting together. Who is in
the centre?

(1) Dinesh (2) Chandan
(3) Armt (4) Bipin
Options :

92090694069. 1
92090694070. 2
92090694071. 3
92090694072. 4

Question Number : 19 Question Id : 92090623801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How 1s Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090694073. 1
92090694074. 2
92090694075. 3
92090694076. 4

Question Number : 19 Question Id : 92090623801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a photograph of a boy, Nita said, “He is the son of the only daughter of my
mother”. How is Nita related to the boy?

(1) Sister (2) Niece
(3) Mother {(4) Aunt
Options :

92090694073. 1
92090694074. 2
92090694075. 3
92090694076. 4

Question Number : 20 Question Id : 92090623802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 _... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19
Options :

92090694077 1
92090694078. 2
92090694079. 3
92090694080. 4

Question Number : 20 Question Id : 92090623802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Look at the series: 1368, 684, 114, 38 .... Which one of the following number should
come next in the series?

(1) 16 2 17
(3) 18 (4) 19
Options :

92090694077 1
92090694078. 2
92090694079. 3
92090694080. 4



Question Number : 21 Question Id : 92090623803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:
2 I

(1) 165 % (2) 335 %

I

() 12— % (1) GGE %

1
2
Options :

92090694081.
92090694082.

92090694083.
92090694084.

AW O~

Question Number : 21 Question Id : 92090623803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man purchased 36 pens in a cartain amount and sold 27 pens in the same amount.
The percentage of gain is:

(1) 16% % (2) 33]; %

() 12— % (1) GG% %

x
2
Options :

92090694081.
92090694082.

92090694083.
92090694084.

AW N =

Question Number : 22 Question Id : 92090623804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A can do a work in 20 days, B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9days
Options :

92090694085. 1
92090694086. 2
92090694087. 3
92090694088. 4

Question Number : 22 Question Id : 92090623804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A can do a work in 20 days, B can do in 30 days and C can do in 60 days. If A is helped
by B and C every third day. The number of days they will take to competed the work
15:

(1) 15 days (2) 12 days
(3) 18 days (4) 9days
Options :

92090694085. 1
92090694086. 2
92090694087. 3
92090694088. 4

Question Number : 23 Question Id : 92090623805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ' N AZI B A B A D' can be
arranged 1s:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090694089. 1
92090694090. 2
92090694091. 3



92090694092. 4

Question Number : 23 Question Id : 92090623805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The different ways in which the letters in the word ' N AZI B A B A D' can be
arranged 1s:

(1) 362880 (2) 30240
(3) 60480 (4) 90720
Options :

92090694089. 1
92090694090. 2
92090694091. 3
92090694092. 4

Question Number : 24 Question Id : 92090623806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090694093. 1
92090694094. 2
92090694095. 3
92090694096. 4

Question Number : 24 Question Id : 92090623806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Difference of 2/3 of 63 and 1/3 of 93 is:

(1) 12 (2) 31
(3) 11 (4) 21
Options :

92090694093. 1



92090694094. 2
92090694095. 3
92090694096. 4

Question Number : 25 Question Id : 92090623807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List II :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A,

List [ List I1
(A) Minimum number of student get grade A () 6
(B) Minimum number of student get grade B* (Iny 4
(C) Minimum number of student get grade B (It 3
(D) Minimum number of student get grade B (IVy 8

(Choose the correct answer from the options given below:

(1) (A)-D, B)-AV). (C)-11), (D)-(11T)
(2)  (A)-IV), B)-(1D), (C)-(I1I), (D)-(D)
(3)  (A)-UID), (B)-(D), (C)-(IV), (D)D)
(1)  (A)-ID, (B)-(ID). (C)-(D), (D)-(IV)

Options :

92090694097. 1
92090694098. 2
92090694099. 3
92090694100. 4

Question Number : 25 Question Id : 92090623807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 :

In a test of class X one third of listed students appeared in test got grade B, one

fourth got B, one sixth got grade B and one eighth failed i.e.grade C. Everyone else got
grade A,

List List I1
(A) Minimum number of student get grade A (I) 6
(B) Minimum number of student get grade B* (Iy 4
(C) Minimum number of student get grade B (Il 3
(D) Minimum number of student get grade B (IV) 8

Choose the correct answer from the options given helow:

(1) (Q)-D, (B)-(IV), (C)-(1I), (D)-(I1I)
(2)  (A)-IV), ([B)-(D). (C)-(I1I). (D)-(D)
(3) (A)-(ILT), (B)-(D). (C)-(IV), (D)-(11)
(4)  (A)-ID, (B)-(1D), (C)-(D), (D)-(IV)

Options :

92090694097. 1

92090694098. 2

92090694099. 3
92090694100. 4

Part B: Dev and Labour Studies

Section Id : 920906472
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906760
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090623808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not mentioned in the preamble and the Directive principles
of state policy enshrined in the constitution of India adopted in 1950

(1) Social Justice (2} Economic Justice
i(3) Political Justice (4) FEducational Justice
Options :

92090694101. 1
92090694102. 2
92090694103. 3
92090694104. 4

Question Number : 26 Question Id : 92090623808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad § 9 fege 3w a9 1950 H sitffiga YR dfau™ & smga iR w9 & ifg
&z Rrgial # =781 fovar man g7

(1) IS A 2) s =g
(3)  Je-ifaE I 4) féE Ty
Options :

92090694101. 1
92090694102. 2
92090694103. 3
92090694104. 4

Question Number : 27 Question Id : 92090623809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When odd number of ochservations in the data given are arranged in an ascending
order, then the middle value will be

(1) Geometric mean 2y Mode
(3) Median (4) Quartile deviation
Options :

92090694105. 1
92090694106. 2
92090694107. 3



92090694108. 4

Question Number : 27 Question Id : 92090623809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o et sffre § fqws I 9 Ueml &1 kel ©F | coafed far o g, @ 39 Rufa
T ey HHE e

(1) SOy Jre (2) dguP
(3)  wIfEE (4) TOmHS faaaH
Options :

92090694105. 1
92090694106. 2
92090694107. 3
92090694108. 4

Question Number : 28 Question Id : 92090623810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List [ with List 11 :

List I Last 11
(A) Traditional society (I} Stagel
(B) Drive towards maturity (IT) Stage 11
(C) Precondition for take-off  (III) Stage 111
(D) High mass consumption (IV) Stage IV

Choose the correct answer from the options given below:

(1) (A)-(ID), (B)-(L), (C)-(I1I), (D)-(IV)
(2) (A)-(I). (B)-(ILL), (C)-(II), (IN-(IV)
(3)  (A)-(IV), (B)-(II), (C)-(IIT), (D)-(1)
{4) (A)-(I), (B)-(I11), (CY-(IV), (D)-(ID)

Options :

92090694109. 1
92090694110. 2
92090694111. 3
92090694112. 4



Question Number : 28 Question Id : 92090623810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & |y gt || o1 e it

-l gt
(A) TURFTd GHS (h T
(8) uRNumar @t fGzm & (n =Rou
SHFHEA
(€) SMY FA q gd & () =
fard
(D) wol °ETH @Ud (IV) IOV
412 fau e faswedl J @ Ul IR &1 99 DI
(1) (A)-(11), (B)-(I), (C)-(1), (D)-(1V)
(2) (A1), (B)-(1n), (C)-(IN), (D)-(IV)
(3) (A)-(IV), (B)-(11), (C)-(111), (D)-(1)
)=(

(4) (A1), (B)-(l), (C)-(IV), (D)-(11)

Options :

92090694109. 1
92090694110. 2
92090694111. 3
92090694112. 4

Question Number : 29 Question Id : 92090623811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | :  For a positive externality marginal social benefit is lower than the

marginal private benefit.

Statement I  : Education, Vaccination are examples of positive consumption

eotermelities.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement 11 are correct
(2) Both Statement [ and Statement 11 are incorrect
(3) Statement [ 15 correct but Statement 11 1s incorrect

(4} Statement [ 1s incorrect but Statement I1 is correct

Options :

92090694113. 1
92090694114. 2
92090694115. 3
92090694116. 4

Question Number : 29 Question Id : 92090623811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

49 g1 HyA e U !

FYT| . GHRIGS eXGTd & fod irid GrTioid drH, Wid wrgdae aH I HH e gl
HYA 1 TR1g 3R BRI FHRIAAS WU T A P 360 ¢ |

IWRIE HYA & 3Meid H, A1 fou v fawedl # 998 Iuge IR &1 994 Difd

(1) YT IR NS WS
2) @Y1 3R | EF TTad 8
(3) @Y1 9S8, WG HYA 11 T §
(4)  HYF | TTEE 8, AT FUA 11 98T §



Options :

92090694113. 1
92090694114. 2
92090694115. 3
92090694116. 4

Question Number : 30 Question Id : 92090623812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scheme Year

(A) Beti Bochao Beti Padhao - 2015

(B) PM Ujjawala Yojana - 20186
() National pension scheme for Traders,

Shopkeepers and Self-Employed person - 2019

(D) Ayushman Bharat, Digital Mission - 2021

Choose the correct answer from the options given below :

(1) (A), (B) only

(2) (A, (B), (C)only

(3) (A), (C), (D) only

(4)  (A), (B), (C), (D) only

Options :

92090694117. 1
92090694118. 2
92090694119. 3
92090694120. 4

Question Number : 30 Question Id : 92090623812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W@ af

A, o2 FES @1 ugre 2015
B. DMl Iadl greHl 2016
C. oMUYl gPHaRl 3R a-fFaifeid safddi

& fore g UeE whie 2019
D. SIS HRd fefores fiem 2021
A fau U faseul § ¥ el IR 1 9 Sy :
(1) &dd A, B
(2) &dd A, B, C
(3) dd A CD

(4) &dd A, B, C,D

Options :

92090694117. 1
92090694118. 2
92090694119. 3
92090694120. 4

Question Number : 31 Question Id : 92090623813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Twpe-1 errors are called significance tests. Manyn applications of hypothesis testing
are of this type. Here what is TYPE-I error?

{A) When Ho is true, reject Ho

(B) When Ha is true, accept Ho
(C) When Ha is false, accept Ha
(D) When Ho is false, accept Ho

Choose the correct answer from the options given below :

(1)  (A) only

(2)  (A). (C) only

(3)  (A). (B), (D) only
(1)  (A), (B) only

Options :
92090694121. 1



92090694122. 2
92090694123. 3
92090694124. 4

Question Number : 31 Question Id : 92090623813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UeR-| @ Jfedl @) wife qfiar &gl S\l 81 UReeHES YHa & dgd I U 39
TR & Bl &1 T8 YPR-1 I HF 0 &2

S Ho U 8 W Ho 1 3RdIHR farar & &
S Ho U 8 W Ho &1 Wi fobar ofrar &
S Ha I & U3 Ho &1 WiBR & rar &
&d Ho TTd & U¥q Ho @1 WieR fdhdl Sral &
R RRu e faspedl # & Wl IR &1 997 I

(1) &dd A

2) &ad A C
(3) dd A B D
(4) &dd A B

o N = >

Options :

92090694121. 1
92090694122. 2
92090694123. 3
92090694124. 4

Question Number : 32 Question Id : 92090623814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One 1z labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : A family in India is a corporate group whose members act together to

meet their commom purposes.

Reasons (R): A member of the family cannot legally claim to the economic returns

of his own skill and enterprise.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A} and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
{3} {A) 18 correct but (R) 18 not correct

(4} {A) 1s not correct but (R) is correct

Options :

92090694125. 1
92090694126. 2
92090694127. 3
92090694128. 4

Question Number : 32 Question Id : 92090623814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



911 &1 F U TN §: U fUHYA (Assertion A) & ®Y T foilEd g df O IWH BRI
(Reason R}%W ff;

AHBYA A : HRd § URER U& A (GRURE) 94 B & s §a8 U4 9=
YIS B R & & fag Gy I fee 19 a3d & |

PRUR : uREaR &1 &5 9 3UY ST R I & fow RBffe v 9 snfde
Ui d &1 oIdT A8l B dhdl|

RIS $YA & 3fTeid H, A iU e fasedl o 9 9&d IJuged IR &1 994 Sifoie

(1) ASRRIA U8l € 3R R A& U] BT 8

2 A 3RREH UG ¢ AfBA R A P el & TR
3) ATEE AfFTREE TS ®

(4) AUEITEE AfFPARTER

Options :

92090694125. 1
92090694126. 2
92090694127. 3
92090694128. 4

Question Number : 33 Question Id : 92090623815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct chronology:

(A) Green Revolution

{(B) First Industrial Policy

(C)  Abolition of MRTP act

(D) Liberalisation, privatisation and globalisation policy

(E)  Abolition of planning commission

Choose the correct answer from the options given below :

(1) (A), (B), (D), (C) and (E)
(2) (B, (A) (D), (C) and (E)
3y (B), (A), (E), (C) and (D)
(4)  (C), (E). (B), (A) and (D)

Options :

92090694129. 1
92090694130. 2
92090694131. 3



92090694132. 4

Question Number : 33 Question Id : 92090623815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el BIArHH -
A eRawifd
B. UYH =i Hifa

C. TUH R U e

D. QaRiHRv, Fsfievur 3R ddfisu ifd

E. IS 3MTAT T HHIUA

9 fau T fasedi § 9 el IR &1 TG B ;

(1) ABDC3RE
(2) B,AD,CS3RE
(3) B,AECSRD
4 CEBASRD

Options :

92090694129. 1
92090694130. 2
92090694131. 3
92090694132. 4

Question Number : 34 Question Id : 92090623816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): There are relatively high drop outs from Government schools

compared to private schools.

Reasons (R):  The quality of mid-day meal needs improvement,

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)
() Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 1s correct but (R) 1s not correct

(4) (A) 15 not correct but (R) 18 correct

Options :

92090694133. 1
92090694134. 2
92090694135. 3
92090694136. 4

Question Number : 34 Question Id : 92090623816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 g1 YA 3T TN §: U SHHFHUT (Assertion A) F FY  H ffEd § o TR IS BRI
(Reason ) F &Y #;

HUPYT A : Ul Wal B ga-l § ORI Wl d did H Ugls Sie- ard 81 &) 48
YT D Blal B

PHRUIR qHTE-HISH (e € e &1 Jurasdl 3§ YUR &34 &1 a8l g |
IR FYF & 3Mars |, A fGU U fasedl 7 9 968 Iuga I &1 994 Hifed

(1) A3RREH WS € 3R R, A P! 98I SRS ©

(2) A SRREH U8l 8, A R, A &1 U8l U8 7ol &
(3) AVEE AFIRTETHE

(4) AWEITEIE APTRULI®

Options :



92090694133. 1
92090694134. 2
92090694135. 3
92090694136. 4

Question Number : 35 Question Id : 92090623817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The only statistical measure possessing the necessary mathematical properties to
make it useful for advanced statistical work.

(1) Coefficient of variation (2) HKurtosis
(3) Standard Deviation (4) Moment coefficient of skewness
Options :

92090694137. 1
92090694138. 2
92090694139. 3
92090694140. 4

Question Number : 35 Question Id : 92090623817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Hitens g A 5 38 39 Hife® g 1 & foru Iuait §=1d &1 101 8l 82

(1) WIS (2) dhdl HET (i)
(3) HES faadq (4) AN P &UNIUNID
Options :

92090694137. 1
92090694138. 2
92090694139. 3
92090694140. 4

Question Number : 36 Question Id : 92090623818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement 1 :  Drain of wealth theory refers to a portion of a national poduct of

India which was not available for consumption to its people.

Statement I  : Remittances or salaries and other incomes by British company

officials sent to England.

In the light of the above statements, choose the correct answer from the options given

below :

{1} Both Statement 1 and Statement 11 are correct
(2} Both Statement 1 and Statement 11 are incorrect
(3) Statement I 1s correct but Statement 11 1s incorrect

(4) Statement I 1s incorrect but Statement I is correct

Options :

92090694141. 1
92090694142. 2
92090694143. 3
92090694144. 4

Question Number : 36 Question Id : 92090623818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARG s R e

Y| . AP BT P RGid ¥ Mg HRd & drll & I9HIT & fou Iuas 78T 41|
wY 11 fafew Su & wr=ial Sl ve T U, 394 31 3 S|

SWRIT ©YA F 3fcilep H, - fau MU fawedl A J Hel I 994 Hifoe

(1) ®YF | SR S
(2) @Y SR I EF Ted 8
(3) HYFI9ElE AfPA PN TTAd B
4) Y| TAd B, AipI YT I Hal B



Options :

92090694141. 1
92090694142. 2
92090694143. 3
92090694144. 4

Question Number : 37 Question Id : 92090623819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The gross tax revenue collection of the Union Govt in India in FY2021-2022 is

{1} 21 Lakh Crore (2) 18 Lakh Crore
(3} 30 Lakh Crore (4) 27 Lakh Crore
Options :

92090694145. 1
92090694146. 2
92090694147. 3
92090694148. 4

Question Number : 37 Question Id : 92090623819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

farcia @ 2021-22 # HRd F F TWHR BT Ybd S Ao TIE0 &

(1) 21 dREHUAS (2) 18 @ FUS
(3) 309 HUS (4) 27 TEHFUS
Options :

92090694145. 1
92090694146. 2
92090694147. 3
92090694148. 4

Question Number : 38 Question Id : 92090623820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘BAMARTH’ programme is related to

(1)  Development of agrneculture (2) Development of banking sector
(3) Development of manufacturing {4) Development of education sector
Options :

92090694149. 1
92090694150. 2
92090694151. 3
92090694152. 4

Question Number : 38 Question Id : 92090623820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHY' (SAMARTH) ®THH FHgfiad feu uve @ Jdfia 8

(1) N & fae™ 2) oI Yo &1 [dH™
(3) fafFmior daez &1 fde (4) Tren deex &1 fAe™
Options :

92090694149. 1
92090694150. 2
92090694151. 3
92090694152. 4

Question Number : 39 Question Id : 92090623821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The measure computed as the ratio of the standard deviation to arithmetic mean of a
distribution expressed as percentage is known as

(1) Moment coefficient of skewness (2) Coefficient of standard Deviation
(3) Coefficient of Kurtosis (4) Coefficient of variation
Options :

92090694153. 1
92090694154. 2
92090694155. 3
92090694156. 4

Question Number : 39 Question Id : 92090623821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

yfaerddl & U # sifiyeadd St faawor & sie nifordy Ared & fdgeq & suad & a9 §
uiesTerd HIYH deardl g

(1) O B &0 Ul (2) AF® =
(3)  dIhal °HET (4) R BNH
Options :

92090694153. 1
92090694154. 2
92090694155. 3
92090694156. 4

Question Number : 40 Question Id : 92090623822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GST collection in the FY 2022 is approximately.

{1} 7 Lakh Crore (2) 4 Lakh Crore
i(3) 10 Lakh Crore (4) 12 Lakh Crore
Options :

92090694157. 1
92090694158. 2
92090694159. 3
92090694160. 4

Question Number : 40 Question Id : 92090623822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faita @y 2022 W off v & TR (¥ Ud a1 YU A Fafifed AP @ '

(1) 7A@ HAS (2) 4TEHUS
(3) 10 @ B3 4) 12 @IS
Options :

92090694157. 1
92090694158. 2
92090694159. 3



92090694160. 4

Question Number : 41 Question Id : 92090623823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement | : Defense, communication are public goods in the central list.

Statement 11 :  Health, Education are merit goods. They are in the concurrent list

according to the 7t schedule of the constitution.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement | and Statement 11 are correct
(2) Both Statement I and Statement 11 are incorrect
(3) Statement I is correct but Statement 11 15 incorrect

(4) Statement [ is incorrect but Statement 11 15 correct

Options :

92090694161. 1
92090694162. 2
92090694163. 3
92090694164. 4

Question Number : 41 Question Id : 92090623823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR T RumE
HY | - URRE, SOR $1g G & i SFard uisas 189 B

HYA I - m?&n'ﬁﬁawﬁlﬁﬁm @1 7dl Y P HTIR T THEdl gl o
it gl

IR HYF & el |, Fid U U f[deed] d 9 981 Iuisdhl 994 Siforg

(1) Y| 3R 11 TR
(2) YA SR I EF Tad &
(3) Y| UEIE AlFAPUA N TAd©
(4) Y| T 8, AT YA 11 qE

Options :

92090694161. 1
92090694162. 2
92090694163. 3
92090694164. 4

Question Number : 42 Question Id : 92090623824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fiscal deficit of Union Government for Financial year 2021-22

(1) 20.4 Lakh Crore (2) 15.87 Lakh Crore
(3) 10.21 Lakh Crore (4) 6.47 Lakh Crore
Options :

92090694165. 1
92090694166. 2
92090694167. 3
92090694168. 4

Question Number : 42 Question Id : 92090623824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faita & 2021-22 & o & o S GXdR &1 TGS NG 9Tl &

(1) 204 dE FUS (2) 15.87 A IS
(3) 1021 AEHUS 4) 647 ARG HUS



Options :

92090694165. 1
92090694166. 2
92090694167. 3
92090694168. 4

Question Number : 43 Question Id : 92090623825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of squares of all deviations from arithmetic mean is always

(1) Negative (2) Zero
(3) Infinity (4) Positive
Options :

92090694169. 1
92090694170. 2
92090694171. 3
92090694172. 4

Question Number : 43 Question Id : 92090623825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3ie T | & 9 Raadi & aif 1 am eRm e 8

(1) APRAS (2) H
(3)  Hdadr (4) HERHE
Options :

92090694169. 1
92090694170. 2
92090694171. 3
92090694172. 4

Question Number : 44 Question Id : 92090623826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who was the author of ‘My Experiments with Truth'

{1} Jawaharlal Nehru (2) M.K. Gandhi
(3} Jamnalal Bajaj (4) Nelson Mandela
Options :

92090694173. 1
92090694174. 2
92090694175. 3
92090694176. 4

Question Number : 44 Question Id : 92090623826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A THURHCH e g &1 da@e S U2

(1) dE @d J8%& (2) UHE. T
(3) SHATHR g9 (4) AcHd Haa
Options :

92090694173. 1
92090694174. 2
92090694175. 3
92090694176. 4

Question Number : 45 Question Id : 92090623827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Geometric mean of four number series 2, x, 16, 32 1s 8. What 1s the value of 27

(1) 2 (2) 4
(3 5] (1) &
Options :

92090694177 1
92090694178. 2
92090694179. 3
92090694180. 4

Question Number : 45 Question Id : 92090623827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

2, x, 16, 32 Sl IR W1l &1 Y@ &1 S 41 8 8 | T8l x &1 713 1 82

(1 2 (2) 4
3) 6 4) 8
Options :

92090694177. 1
92090694178. 2
92090694179. 3
92090694180. 4

Question Number : 46 Question Id : 92090623828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following economic growth models assumes Netural technical progress

(&) Schumpeter model
(BY Harrod-model

(C) Roston model

(D) Solow model

Choose the correct answer from the options given below :

(1} (B) and (D) only
{2) (A) and (B) only
(3) (A) and (C) only
(4) (B) and (C) only

Options :

92090694181. 1
92090694182. 2
92090694183. 3
92090694184. 4

Question Number : 46 Question Id : 92090623828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafaa # ¥ o1 91 onftfe faem™ Alsa dewy ad-ie! Wifd &1 Tuls adl gl
A, THHI AISA

B. gUSHIsd
C. URAHEA
D. ddd Hisd
AT fow e fasseul 7 9 gl IR &1 98- HIfY -

(1) &dd B3R D
(2) ad AR B
(3) &dd AR C
(4) ad B3R C

Options :

92090694181. 1
92090694182. 2
92090694183. 3
92090694184. 4

Question Number : 47 Question Id : 92090623829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In terms of birth rates in Indian states arrange in the ascending order;

{A) Pungab
(BY Assam
(Cy UP

Dy  Orissa
(Ey Kerala

Choose the correct answer from the options given below :

(1) (E), (A), (D), (B), (C)
(2)  (A) (B). (D). (C), (E)
(3)  (E), (B). (A). (D), (C)
(4)  (A), (C). (D). (E), (C)

Options :

92090694185. 1
92090694186. 2
92090694187. 3



92090694188. 4

Question Number : 47 Question Id : 92090623829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-3 31 £ ¥ URd Il (uidh) &1 SRS HH | Saieid &

A U9

B. 3H

C. ITRUS™ @
D. SfifsEm

E. &

14 fau U [9edl § 9§ 9el IO &1 994 BT -

(1) E,A D BC
(2) A BDCE
(3) E.BADC
(4) ACDEC

Options :

92090694185. 1
92090694186. 2
92090694187. 3
92090694188. 4

Question Number : 48 Question Id : 92090623830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One 15 labelled as Assertion (A) and the other 1s

labelled as Reason (R).

Assertion (A): The battle of Plassey (1757) meant a fundamental change in the

nature of India’s foreign trade.

Reasons (R): India exported goods to Europe in return for which it received some

commuodities, but mainly in bullion.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) 18 false but (R) 18 true

Options :

92090694189. 1
92090694190. 2
92090694191. 3
92090694192. 4

Question Number : 48 Question Id : 92090623830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



41 &1 $vF QU U §: U@ SfUHYA (Assertion A) & Y F foifed § dl gO1 396 BRI
(Reason R) & &7 H;

EYH A . Wl & gg ¥ URd & 439 AR &1 udfd d geyd uRad= smn

FHRUIR : HRA, 9 1 agsil 1 Frafd ar o o[ 99d 7 38 (WRd ) 38 Tl
i g1 w1 § Fidl F e (Rear e ) urd gd 2

IR HYA & 3Tl |, i iU U [ el § J "8l I &1 994 Sifolw

(1) AJMRRIATITE R R A D Tl A= &

(2) A S3RREA 9™ g, AMHAR, A T U1 TS 6l &
3y ATIE ABARIATR

4 ANTIE APFTRIATE

Options :

92090694189. 1
92090694190. 2
92090694191. 3
92090694192. 4

Question Number : 49 Question Id : 92090623831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{A) The policy of progressive expansion of the public sector was initiated in the 1=
five wear plan of India.

(B) The policy of Green Revolution was initiated in 1950s.

() Monopohies and Restricted Trade practices Act has been changed to
competition commission of India

(D) The evasion of taxes results in generation of black money.
(E)  One Nation One Ration Card (UNORC) is implemented to help migrant labour.

(Choose the correct answer from the options given below :

(1) (A), (C) and (D) only
(2)  (B). (C) and (E) only
(3) (A), (B)., (C) and (D) only
{4) (C), (D) and (E) only

Options :

92090694193. 1
92090694194. 2
92090694195. 3



92090694196. 4

Question Number : 49 Question Id : 92090623831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, YRd H giaue &3 & IR [are! Hifd ggdl daadiy Jie- & 3= 31 78 4
B. @R mifd &t ifd 1950 & gaH & g 4t

C. URIYSHR R ufddurars sgmifasar ifufgad aRada #3389 yRd ufawgef
ST |- T

D. @R & Udad A BT 4 HIA Eal &

E U P U I9E HIS (4 U 1 3R ) HI Warit Horgdl P Fgraa Hierg Sriad
fearma g

44 feu e fasedi § 9 98l 3R &1 99+ ifod :
(1) HAdE A, C3ARD

(2) $daB,CHRE

(3) HdAA B3RD

(4) PFAC DIRE
Options :

92090694193. 1
92090694194. 2
92090694195. 3
92090694196. 4

Question Number : 50 Question Id : 92090623832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

Statement I :  Part of inflation in India in FY 2022 is attributed to food inflation.
Statement I1 :  Cereals and vegetables are the major contributors to food inflation
in FY 2022,

In the light of the above statements, choose the correct answer from the options given

below ;

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement Il are incorrect
(3) Statement 1 is correct but Statement I1 is incorrect
(4) Statement I is incorrect but Statement Il is correct

Options :

92090694197. 1
92090694198. 2
92090694199. 3
92090694200. 4

Question Number : 50 Question Id : 92090623832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS syERrmE
YT ;. HRA H iy ay 2022 ¥ 3 AEMS &1 SR WIE US| & Hem e gl

B I - ﬁ%ﬁznzzﬁmwﬁﬁﬂﬁﬁmwwmmqﬁﬂﬁrﬁqﬁm
[

JWRIF HYA & 3l |, i iU U [ edl § 8 Hol Iudl 99+ diferg

(1) HYEI RIS T8l &
(2)  HYA| SR I SHI TTad §
(3) PYTIFSIE ABA DY TTEd T
(4) YT 7Td g, A YA | el

Options :



92090694197. 1
92090694198. 2
92090694199. 3
92090694200. 4

Question Number : 51 Question Id : 92090623833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I1:

List 1 List 11
{A) Rejecting Ho when it is (I) Sampling Ramdom
true

(B) Population is homogeneous (II) Type I error

(C) Mean is egual to degree of (I1I) Skewed distribution
freedom

(D) Mean = Mode {(IV} x2 distribution

Choose the correct answer from the options given below:

(1) (A)-(ID), (B)-(IV), (C)-(I1T), (D)-(I)
(2) (A1), (B)-(I), (C)-(IV), (D)-(11T)
(3)  (A)-(I), (B)-(11T), (C)-(IV), (D)-(11}
(4) (A1), (B)-(IV), (C)-(I). (D)-(111)

Options :

92090694201. 1
92090694202. 2
92090694203. 3
92090694204. 4

Question Number : 51 Question Id : 92090623833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g | & 9y g 1 & e S

- gt -
(A) HoB ILEPR I TG Ig TA 8l () e uded
(B) SHHE WEIG Bl & Iy UPRIFRE
(€) Wi, WaAd®d! el & R Eaie (1)) 95 fGaRur
(D) WY > dga® (v) »x? faavor

4 feu e fawedi # 9 9el IR &1 984 FifT;

(1) (A1), (B)-(IV), (Q-(), (D)-()
(2) (A1), (B)-(I), (C)-(IV), (D)-(lH)
(3) (A, (B)-(1I), (C)-(IV), (D)-(IN)
(4) (A1), (B)-(IV), (O-(1), (D)-(ID)

Options :

92090694201. 1
92090694202. 2
92090694203. 3
92090694204. 4

Question Number : 52 Question Id : 92090623834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

Last | Last 11
(A) Partition of Bengal (Iy 1907
(B) Surat split of congress (IT) 1905
() Rowlatt Act (III) 1943
(D) Azad Hind Fauj (IV) 1919

Choose the correct answer from the options given below:

(1} (A)-(IT), (B)-(IV), (C)-(I), (D)-(11L)
(2) (A)-(III). (B)-(1T). (C)-(IV), (D)-(I)
(3) (A)-(IT), (B)-(1), (C)-(IV), (D)-(11I)
(1) (A)-(IV), (B)-(TIT), (C)-(IT), (D)-(T)

Options :
92090694205. 1
92090694206. 2



92090694207. 3
92090694208. 4

Question Number : 52 Question Id : 92090623834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al | & 9 g 1| & e st

G- -l
(A) ETcreT fauTeH () 1907
(8) HXd H HUY & faure () 1905
€) e ide () 1943
(D) 3MT9TTE fée B (v) 1919

4t fau e faeedi O 9 wel IR &1 99 Sifor:

(1) (A=, B)-(IV), (Q)-(1), (D)-(IIT)
(2)  (A)-(I), (B)-(), (C)-(IV), (D)-(1)
(3) (A1), (B)-(1), (C)-(IV), (D)-(lIT)
(4)  (A-(IV), (B)-(lD), (©)-(), (D)-(1)

Options :

92090694205. 1
92090694206. 2
92090694207. 3
92090694208. 4

Question Number : 53 Question Id : 92090623835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In 2019-20, Central Government converted all Central Labour Laws in the following
codes:

(4) The code on wages

(B) The Industrial Relations Code

(C) The Code on social security

(D) The occupational safety, Health & working conditions code

(E) The code on women wages

Choose the correct answer from the options given below :

(1)  (A), (B). (C) only

(2) (A, (B), (C), (D) only

(3)  (B).(C), (D), (E) only

(4) (A), (B), (C). (D). (E) only

Options :

92090694209. 1
92090694210. 2
92090694211. 3
92090694212. 4

Question Number : 53 Question Id : 92090623835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2019-20 B 419 TSR 4 9t Sy 41 ST Hufarad digasi & uikafda # R
A Feigdl dadt g

B. SN dey wfgar

C. Wi YRaf et wfgar

D. SIS Y&l RIS 1 220 digd

E. wfgcnsil & Hergdl Ydd wigd

A9 feu e faseul ¥ 9 9! IR &1 98+ SHifo

(1) @dd A B, C
(2) @dd A B CD
(3) &dd B, C,D,E

(4) &dd A B, C, D E

Options :
92090694209. 1



92090694210. 2
92090694211. 3
92090694212. 4

Question Number : 54 Question Id : 92090623836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reaszon (R).

Assertion (A) : If trade unions restrict labour supply or negotiate wages that are
above the market-equilibrium, the net effect 1s a trade off between

wages and employment.

Reasons (R): By improving job security, unions may make workers more prepared
to accept changes in working practices that lead to productivity

gains.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 18 not correct

{4) {A) 1s not correct but (R) 1s correct

Options :

92090694213. 1
92090694214. 2
92090694215. 3
92090694216. 4

Question Number : 54 Question Id : 92090623836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



11 1 $ U U € UF HHBYUA (Assertion A) B FY T fafad & d THI IUF HROI
(Reason R}%Qﬁq ff,'

AMHYT A © TS AoigR T, BT MY HA W Ulaay T 3o ¢, 91 Ul Aoigd & arR #
dIddd S € ol SeR o ¥ S1fE g d 39@T1 FRd U Jugd 3R
IR di 9% fafFaamR gear g

HRUIR : GiTd GR& H YUR TIH Holge 94, Hulgr] &) $1d gRuriedl # T8 uRdd=l &
WIPHR H & o 316 TR B GPhd & [oFd SURHAH e ¢ |

JUIE FYF & 3@l d, A fGu e fas el 7 9 968 Iuge IR &1 994 Sifoie

(1) A SRRSHA U8l § 3R R, A &I UEl 1 8

(2) ASRREH U € Al R A | U8l ARSN 6l &
(3) AGHE APTIRUG AR

(4) AW TEIE APTRES T

Options :

92090694213. 1
92090694214. 2
92090694215. 3
92090694216. 4

Question Number : 55 Question Id : 92090623837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Life expectancy in ascending order in various countries

{A) Japan
{(B)Y Canada
(C) India
(D) China
(E) UK

Choose the correct answer from the options given helow :

(1) (C), (B), (A). (E), (D)

(2)  (C), (D), (B), (E), (A)

(3)  (C), (A), (D), (E), (B)

(4)  (C), (E), (B). (A), (D)
Options :

92090694217. 1
92090694218. 2



92090694219. 3
92090694220. 4

Question Number : 55 Question Id : 92090623837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafir 2wl 7 SMRIgt od | Sila SHred|
A, SIUH

B. ISl

C. YRd

D. dH

E &

1< feu 7o fawedi 1 9§ Hel 3T &1 994 Bifeid

(1 C.B.AED
(2) C.D,BEA
(3) C,A DEB
(4) C.EBAD

Options :

92090694217. 1
92090694218. 2
92090694219. 3
92090694220. 4

Question Number : 56 Question Id : 92090623838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



MNC’s can help the developing nations to:

{A) Obtain foreign technology and innovation methods of increasing productivity.
{(B) Employ rural nuemployed labour.
(C) Finance a saving gap deficit,

() Finance a balance of payment deficit

Choose the correct answer from the options given below :
(1)  (A). (B) only

(2) (A, (B).(C) only

(3) (A (C), (D) only

(4)  (A), (B), (C), (D) only

Options :

92090694221. 1
92090694222. 2
92090694223. 3
92090694224. 4

Question Number : 56 Question Id : 92090623838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o U 3, femaeia 3 @) Frafafa & e Semar s aad & -

A, JARCHA dgH B FaraR) UGiadl SR el Urifie! ura & & e
B. UHIU SIS YTHST &1 AR UaH F:34 & e

C. &dd 3idd 91 & fIU € Ui SH3d iy

D. YT e H1e & forT o UaH & Hiere

12 f3u U Rsedl 7 9 9el IR &1 9 ST :

(1) dd A, B
(2) &dd A, B C
(3) dd A C, D

(4) &dd A B, C. D

Options :

92090694221. 1
92090694222. 2
92090694223. 3
92090694224. 4



Question Number : 57 Question Id : 92090623839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The n** root of the product of ‘n’ values in a distribution 1s called

(1) Harmomic Mean (2} Geometric Mean
(3) Mode (4) Semi Quartile Range
Options :

92090694225. 1
92090694226. 2
92090694227. 3
92090694228. 4

Question Number : 57 Question Id : 92090623839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fapefl faaur & 'n' AT & UFEE &I 74 Jd &1 Fed 6

(1) EI&HS |1 (2) g "y
(3) dgad @) gl [e)
Options :

92090694225. 1
92090694226. 2
92090694227. 3
92090694228. 4

Question Number : 58 Question Id : 92090623840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following products are not converted by GST (Goods & Services Tax)

(1) Electronics & Textiles {2) Electrical & Hotels
(3) Automobiles & Tyres (4) Petroleum & Alcohal
Options :

92090694229. 1
92090694230. 2
92090694231. 3
92090694232. 4



Question Number : 58 Question Id : 92090623840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiaa 3dre of Ta & (@%g ok ¥a1 ) 1 SR 78] fPu M gl

(1) gCaeli-ey 3R SqHeEe (@)
(2) gofdeHd SR gied

(3)  SMIEHEEd 3R e

(4) UdIfeEd 3R sfedigd

Options :

92090694229. 1
92090694230. 2
92090694231. 3
92090694232. 4

Question Number : 59 Question Id : 92090623841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): Public Distribution System and Land Reforms policies have been

formulated to fulfil the objective of reducing income inequality.

Reasons (R):  Government economic and social policies have potential impact on
income distribution directly or indirectly.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3} (A) 15 correct but (B) 1s not correct

(4) (4A) 18 not correct but (R) is correct

Options :
92090694233. 1
92090694234. 2



92090694235. 3
92090694236. 4

Question Number : 59 Question Id : 92090623841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#1931 YA 3T W & TP SAHDUA (Assertion A) & FU  H forlad 8 @ 9 39S FRU
{Reason R}%F‘J ﬁ;

HPYT A . WduHS [Gaeor gonterd! R Yl guR Y& fifadl &1 em & s
HHBD Fe.90 DI G HI & ot qaR b T/ g |

PFRUIR : TWHR DI AF R e Jifadl &1 Mg & O | yde Aus
UHd ISl g

IURIE HYF & 3 H, A1 fu e fasedi 7 9 969 Iuged I &1 994 Hifeig

(1) A SRRGH Ul § 3R R, A | &l A=A &

(2) A SRR EH UE € AfBA R A T el = AL ¢
(3) AUEIE APIRUSI AT ©

(4) AT TEE APTREDE

Options :

92090694233. 1
92090694234. 2
92090694235. 3
92090694236. 4

Question Number : 60 Question Id : 92090623842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(7iven below are two statements :

Statement 1 :  Start ups in India have grown remarkably over last one decade,

most of these are in service sector.

Statement I :  Service sector in India 18 on the top in the priority list of

Government of India.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement 1 and Statement 11 are correct
(2} Both Statement 1 and Statement 11 are incorrect
(3) Statement [ is correct but Statement 11 is incorrect

i4) Statement [ 18 incorrect but Statement 11 15 correct

Options :

92090694237. 1
92090694238. 2
92090694239. 3
92090694240. 4

Question Number : 60 Question Id : 92090623842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRaFyE R

Y| ;. S U IS # YR H ¥IEH 39 # I@E-1d gfa g5 &, 390 & Uiy da
&3 (FdfE gaex) " el

YA Il HRd HUl 41 &7, URd WHR oI s e A fiw g |
IWRIed YA |, 1 AU 7 fawedl § § 998 IF IR &1 999 Sifell

(1) Y| AR A T B
(2) YA 3R I SF1 TAd 8
(3) HYF | TE g, Al Y I TR B
(4) YT | T g, Wb HYF || el &

Options :

92090694237. 1
92090694238. 2
92090694239. 3
92090694240. 4

Question Number : 61 Question Id : 92090623843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who has written a sociological classic, “The Philadephia Negro: A social study (1899)7

(1) William Edward Burghart Du bois (2) R.J Rummel
(3) Stevan Weine (4 Joan Wallach Scott

Options :

92090694241. 1
92090694242. 2
92090694243. 3
92090694244. 4

Question Number : 61 Question Id : 92090623843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= aWTS agie Tartas e harsiawar 4 ; U 9id w3l (1899) ST/ Bl g

(1) fafgwm vsas wfars gy agy
(2) RS I

(3) o agA

(4) WM dTdTE WIE

Options :

92090694241. 1
92090694242. 2
92090694243. 3
92090694244. 4

Question Number : 62 Question Id : 92090623844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The present sex-ratio in India is

(1) 250 Women vs 1000 Men (2y 1000 Women vs 1000 Men
(3) 1020 Women vs 1000 Men (4) 1030 Women vs 1000 Men
Options :

92090694245. 1
92090694246. 2
92090694247 3
92090694248. 4

Question Number : 62 Question Id : 92090623844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRd ¥ gcwE # e ourd 8

(1) 850 AR &9 1000 Y39 (2) 1000 AZATE §99 1000 J&Y
(3) 1020 Afg@md §919 1000 3N (@) 1030 Afg@d 9919 1000 T3Y
Options :

92090694245. 1
92090694246. 2
92090694247. 3
92090694248. 4



Question Number : 63 Question Id : 92090623845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total food production of India (in million tons) currently is

(1) a40 (£) 410
(3) 320 (4) 315
Options :

92090694249. 1
92090694250. 2
92090694251. 3
92090694252. 4

Question Number : 63 Question Id : 92090623845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR &1 $a @Il IdIeA (Afeg- e ) &

(1) 340 (2) 310
(3) 320 (4) 315
Options :

92090694249. 1
92090694250. 2
92090694251. 3
92090694252. 4

Question Number : 64 Question Id : 92090623846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Approximately 80% of revenue collections of Union Government come from

(1) Direct Taxes (2) Customs Duty
(3) Indirect Taxes (4) Petroleum Products
Options :

92090694253. 1
92090694254. 2
92090694255. 3
92090694256. 4



Question Number : 64 Question Id : 92090623846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fg ISR & oI B AT 80% IMe! Frafafas 7 4 fFad aidh

(1) W& (2) Y
(3) AU (4) UTifead Idrg
Options :

92090694253. 1
92090694254. 2
92090694255. 3
92090694256. 4

Question Number : 65 Question Id : 92090623847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List 11 ;

Last I List 11
{A) Collective conscious (I} Where only observable and
measurable behaviours
should be studied
(B) Positivism (I} Associated with Durkheim
() Moralization (III) To describe the structure of

groups within societies

(D) Social stratification (IV) Which governing rules or
behaviours are promoted as
the common standards, n
the interest of society.

Choose the correct answer from the options given below:

(1) (A)-(D). (B)-(I1), (C)-(IV), (D)-(11)
(2)  (A)-(ID), (B)-(III), (C)-(1), (D)-(IV)
(3)  (A)-II), (B)-(D), (C)-(IV), (D)-(11I)
(4) (A)-(IT), (B)-(I11), (C)-(IV), (D)-(I)

Options :

92090694257. 1
92090694258. 2
92090694259. 3



92090694260. 4

Question Number : 65 Question Id : 92090623847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & |1y = 11 & e i

G-I eI
(A) HITSS SFETT () el Haa Uewr 4 SR A9 g
R &1 ey fobar a1 g
(B) WA ) IEIHY dds

(C) UEEREIUSCUSA (1) FATE & HieR THgl 1 W= &1
CLUEERE]

(D) HISIE THIHI (V) F91e & fea § fa ot Al sryarn
AW & JH HFcs & 9 4
derI fou 9 &

12 faw e f9eul # 9 HEl IR &1 984 Do

(1) (A)-(D). (B)-(l1), (O)-(IV), (D)-(l1)

(2) (A=), (B)-(l1), (O)-(1), (D)-(IV)

(3) (A, (B)-(1), (C)-(1V), (D)-(llN)

(4) (A1), (B)-(HI), (C)-(IV), (D)-()
Options :

92090694257. 1
92090694258. 2
92090694259. 3
92090694260. 4

Question Number : 66 Question Id : 92090623848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One 1z labelled as Assertion (A) and the other is

labelled as Reazon (R).

Assertion (A): In Second world war, on the one side were Germany, Italy and

Japan, called the Axis-Powers.

Reasons (R):  On the others were Great Britain, France, USA, USSR, etc called the

Alhed-Powers. Germany had to face defeat.

In the light of the above statements, choose the most appropriate answer from the

options given below :

{1} Both (A) and (R) are correct and (R) is the correct explanation of (4)
(2} Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) is not correct

(4) {A) 1s not correct but (R) is correct

Options :

92090694261. 1
92090694262 2
92090694263. 3
92090694264. 4

Question Number : 66 Question Id : 92090623848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#1931 YA 3T TN € U HUSHUT (Assertion A) F TY  H fAfEd 8 ol TR ITF SHROI
(Reason R}%F‘I ff,'

Aty A - fodia oy ge # ve e o, gedt aur s 4 158 ot 1y et S Al

®RUR : 39 g W gl R I feed, 5 g U8 ¢ U9 UY 3R g forg e
fdal Sel Al 4T | S BT ER 8% | b

IURIHR HY $ 3fTeie §, 19 G T faedl § 9 96 3uged Ik &1 994 Sifau

(1) ASIRREH Usl € SRR, A &1 el TS &

(2) AARREH 9gl 8 dfd R, A DI el ARAT el &
3) AUEE AfFTIRIS AR

(4) AWRITEIE AfPTREEE

Options :

92090694261. 1
92090694262. 2
92090694263. 3
92090694264. 4

Question Number : 67 Question Id : 92090623849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NASSCOM stands for :

(1) National Association of Software and Hardware Service Companies
{2)  National Academy of Software and Hardware Service Companies
(3) National Association of Software and Service Companies

(4) National Academy of Software and Service Companies

Options :

92090694265. 1
92090694266. 2
92090694267. 3
92090694268. 4

Question Number : 67 Question Id : 92090623849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UA U 0H Uy 3 3 UH 1 fa%gd FU &

(1)
(2)
(3)
(4)

A9E THIRUYE 3% e dsr UUS g5 dsR Hiay &+
AL TS ST Feder UUE BrRder Jdi -t
AT THITRUH S WUedaR UUg §idy S

AT UH Sl 1P JUed 3R UUE Jiay H-Te

Options :

92090694265. 1
92090694266. 2
92090694267. 3
92090694268. 4

Question Number : 68 Question Id : 92090623850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What are the three key factors to scale Happy Planet Index?

(A)
(B)
(C)
(D)
(E)

Life expectancy, human well being

Life expectancy, Enviromental Damage

Life expectancy, human well-being, Damage via the environmental footprint
Art culture and health

Technology, Literacy and Infant Mortalily

Choose the correct answer from the options given below :

(1)
(2}
()
(4)

(A). (B) & (E)
(O), (D) & (A)
() Only

(E). (D) & (B)

Options :

92090694269. 1
92090694270. 2
92090694271. 3
92090694272. 4

Question Number : 68 Question Id : 92090623850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! Siia Ga&i® (eUl WHT Soa9) Bl HITH & ol & SRS H1 o7
A, 3T U, AT S

B. SRy Huifaa, &fd
C. S WyIfadr, H1d Sedmvl, JaiaRviy Uea™ & gRl &fa
D. @dl qul GpidsiR Wl

E. Rl waral, Rgag e
19 fqu e faeedt § 9§ Ul IR &1 99A S

(1) ABSRE

(2) C D3RA

(3) dd C

4 E,D3RB
Options :

92090694269. 1
92090694270. 2
92090694271. 3
92090694272. 4

Question Number : 69 Question Id : 92090623851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GGiven below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): Fiscal Policy uses the government finances to achieve the macro-

economic goals.

Reasons (R): Governement uses taxation, Public expenditure program to achieve

desirable goals on National Income, production and employment

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) 18 correct but (R) is not correct

(4) {A) 1s not correct but (R) is correct

Options :

92090694273. 1
92090694274. 2
92090694275. 3
92090694276. 4

Question Number : 69 Question Id : 92090623851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



13 g1 HyA 3T T & U SHHBHUA (Assertion A) F FY ¥ fAfEd & I IR IUS HRU
(Reason R) F ¥Y H;

AMFEYT A - e g 7 e faa &1 Iun gy snfife damt &1 urd s
iora fara ot g1

HRUIR : YIHR HRIYM, Tl Y PIUHH BT IJTAN AP 318, Iaured 3R TSR
et Fifeyd ey U FA Hieg B ¢ |

IR YA & 3fdls ¥, A9 iU M0 faemedl 7 9 998 Iugad Ik &1 994 i

(1)  ASRREH U8l & 3R R, A T Yo! RS 8

(2) AJARREH UEl 8, Al R, A P el AT el &
(3) AUEE AFI RIS TEE

(4) AUEITEIE AfPTR TS ®

Options :

92090694273. 1
92090694274. 2
92090694275. 3
92090694276. 4

Question Number : 70 Question Id : 92090623852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



India’s key external debt (US § billion)

Match List I with Last I1 ;

List 1 List 11
Year Amount
(A) 2017 Iy &/73.6
(B) 2018 (II) 558.4
(C) 2020 (ITI) 471.0
(D) 2021 (IV) 629.3

Choose the correct answer from the options given below :

(1 (A)-(I), (B)-(I1), (C)-(IV), (D)-(I1I)
(2)  (A)-(ID), (B)-(D), (C)-(11D), (D)-(IV)
(3) (A1), (B)-(IV). (C)-(ID), (D)-(1)
(4)  (A)-(II), (B)-(IV), (C)-(I), (D)-(I1I)

Options :

92090694277. 1
92090694278. 2
92090694279. 3
92090694280. 4

Question Number : 70 Question Id : 92090623852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HRd & Yo faail 3o (sl fafemm Ser)

Match List | with List Il ;

T | (@) T 11 (i
(A) 2017 () 5736
(B) 2018 () 5584
(C) 2020 (1 471.0
(D) 2021 (V) 5293

42 feu 7 fasedi # 9 98l TR &1 9594 DI

(1) (A0 (B)-{ID), (C)-(IV), (D)-(lIN)
(2) (A=), (B)-(1), (C)-(l), (D)-(IV)
(3) (A=), (B)-(1V), (C)-(l), (D)-(1)
(4)  (A)-(), (B)-(IV), (C)-(1), (D)-(lT)

Options :

92090694277. 1
92090694278. 2
92090694279. 3
92090694280. 4

Question Number : 71 Question Id : 92090623853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The advent of the Europeans as per Chronology :

{A) Portugese East India Company
(B) Dutch East India Company

()  English East India Company
(D) Danish East India Company
(E) French East India Company

Choose the correct answer from the options given helow :

(1} (A), (B).(C), (D) & (E)
2y (A), (C) (B), (D) & (E)
(3) (D). (E), (A). (B) & (C)
(4} (A, (D), (C). (B) & (E)

Options :



92090694281. 1
92090694282. 2
92090694283. 3
92090694284. 4

Question Number : 71 Question Id : 92090623853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PIAGHNER HRd H ZRIMOG] &1 A
A gdmreh $% $fEE e

B. &93% fgursw

C. SiUdl 3l 5% sfea sl

D. FuTw emETH

E. e Se Sfear et

2 feu U fasedi § 9 98l IR &1 954 Fifoe
1) ABCDA&E

2) ACBD&E

3 D,EABA&C
4 ADCB&E

[

(
(
(
(

Options :

92090694281. 1
92090694282. 2
92090694283. 3
92090694284. 4

Question Number : 72 Question Id : 92090623854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In case of high extreme values in the data set which measure of central tendency
should be appropriate to use :

(1) Mean (2) Median
(3) Mode (4) Harmonic mean
Options :

92090694285. 1



92090694286. 2
92090694287. 3
92090694288. 4

Question Number : 72 Question Id : 92090623854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

od 999 (331 90) § 3= WA AH g9 W oyld Udii @1 5y A1 &1 IuT &3
— QUYa g

(1) HH (2) W
(3) Egud 4) BIHS HIA

Options :

92090694285. 1
92090694286. 2
92090694287. 3
92090694288. 4

Question Number : 73 Question Id : 92090623855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pollution is an example of market failure because :

(1)  The market price is less than the efficient price
(2)  The market price is higher than the efficient price
(3)  Property rights are poorly defined

{4) Those who suffer from pollution are Compemsated outside the market

Options :

92090694289. 1
92090694290. 2
92090694291. 3
92090694292. 4

Question Number : 73 Question Id : 92090623855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U] SR Bl &1 Us 3360 & Hife

(1) SR e UuTd e 3 &1 &
) ENR Hed UMTd e ¥ S §

(3) i & SR BT faavul sRidysHS &1 9 fooan mar g
@) oS Ul ¥ gHYE 8 g, 399! UfaHfd 99R & el #1 9dl 8

Options :

92090694289. 1
92090694290. 2
92090694291. 3
92090694292. 4

Question Number : 74 Question Id : 92090623856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List I1 :

Last I List I1

(A Nominal data (I) Are you satisfied to spend
money every day?

(B Ordinal data (II) How many times you spend
money in a day?

(C) Discreate data (I1I) How much money yvou spend
in a day?

(D) Continuous data (IV) Do you spend the money

every day ?

Choose the correct answer from the options given below :

(1) (A, (B)-(ID), (C)-(I1D), (D)-(IV)
(2 (A1), (B)-ALD), (C)-(1D), (D)-(IV)
(3)  (A)-(IV). (B)-(D. (C)-(1D), (D)-(111)
(4)  (A)-IV), (B)-(ID), (C)-(I), (D)-(I1I)

Options :

92090694293. 1
92090694294. 2
92090694295. 3
92090694296. 4

Question Number : 74 Question Id : 92090623856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gl | & Ty g 1 &1 e Sifsre

-1 gl i
(A) duifdas od ST () @T%ﬂquﬁfﬁﬁﬁﬂﬁiﬁﬂﬁﬁ!@r
ady

(B) HHYAD oo W () A U 8 A et ar U9 wd 6
() fafded g el (1) 39+ U & o e 0w faan
(D) Tdd < It (V) EMHI R EIHWEE

412 fau v f9sedi § | 9l IR &1 999 Pifee:

(1) (A0, (B)-(1), (O)-(1), (D)-(IV
(2)  (A)-0) (B)-(1), (C)-(I), (D)-(IV
(3)  (A-(V), (B)-(I), (-, (D)-(I

)

)
)
)
(4)  (A)-(V), (B)-(In), (O)-(1), (D)-(1)
Options :

92090694293. 1

92090694294. 2

92090694295. 3

92090694296. 4

Question Number : 75 Question Id : 92090623857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the small sample, which of the following test is used.

(1) t-test () F Test
(3) Z Score (4) Chi Square
Options :

92090694297. 1
92090694298. 2
92090694299. 3
92090694300. 4

Question Number : 75 Question Id : 92090623857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oy ufdesi & fore Frafifed # 3 g odan <1 3udi i e 82

(1) @ udian (2) U Udiaq
(3) ol udlan 4) g WU
Options :

92090694297. 1
92090694298. 2
92090694299. 3
92090694300. 4

Question Number : 76 Question Id : 92090623858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ownership class which uses all the means of Production with the sole aim of
maximizing profit 1s known as

(1) Command Model (2) Mixed Economy
(3) Capitalist Model (4) BSocialist Model
Options :

92090694301. 1
92090694302. 2
92090694303. 3
92090694304. 4

Question Number : 76 Question Id : 92090623858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mﬁaa;@mﬁiﬂﬁm 1 IUGN Had AeHaH aH PHM & Ie30 § T 6,
hedldl

(1) gAY ufa=y (2) Hf%a srfegar
(3)  Yellard! ufasy (4) FHeERE ufaeEy
Options :

92090694301. 1
92090694302. 2
92090694303. 3
92090694304. 4



Question Number : 77 Question Id : 92090623859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maternity Leave for working women has been increasing by Government of India
from

(1) 12 to 26 weeks (2) 10 to 20 weeks
(3) 15 to 22 weeks (1) 10to 28 weeks
Options :

92090694305. 1
92090694306. 2
92090694307. 3
92090694308. 4

Question Number : 77 Question Id : 92090623859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRT SXHR A SIHEN Algarst & fod vyl g2l # ofs @1 &

(1) 12 e 9 9g1H 26 9dE (2) 10 Ui ¥ Sgldhy 20 TWTg
(3) 15 9le ¥ Fg/h 22 e (4) 10 U ¥ SgIa 28 Ile
Options :

92090694305. 1
92090694306. 2
92090694307. 3
92090694308. 4

Question Number : 78 Question Id : 92090623860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of Jobs created by “digital economy” in India so far are :

(1) 7.1 Crore {2} 5.21 Crore
(3) 8.15 Crore (4) #8.15 Crore
Options :

92090694309. 1
92090694310. 2



92090694311. 3
92090694312. 4

Question Number : 78 Question Id : 92090623860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRA H 3t 9o sl srfemawr (FEfoed gaih) gr1 g o # 9en g -

(1) 7188 (2) 521 &8
(3) 81FUS (4) 624 S
Options :

92090694309. 1
92090694310. 2
92090694311. 3
92090694312. 4

Question Number : 79 Question Id : 92090623861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement [ : Ryotwari system introduced in Bombayv and Madras. Viceroty

Munro and Charles Reed recommended it.

Statement 11 1 In this, a direct settlement was made between the Govt. and the

ryot (Cultivator).

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement 1 and Statement Il are correct

(2) Both Statement | and Statement Il are incorrect
(3) Statement 1 is correct but Statement 11 i1s incorrect
(4) Statement I 18 incorrect but Statement 11 1s correct

Options :
92090694313. 1



92090694314. 2
92090694315. 3
92090694316. 4

Question Number : 79 Question Id : 92090623861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 &1 HuA 3T U € U SfUFHUA (Assertion A) F FY  H fAfEd 8 O IR ITH SR
(Reason R}a'_’m ﬂ;

HHBYT A ©  GddRT YUTell avas SR HER H P &I 715 o], aER §AR Y 9red 3
LR GEUEIRE AR

PHRUR : S WHR Y1 ¥d (far) & ol e deiasd (@eaie) gai Uil
SR HYF & e |, A1 fGu U fas el # 8 g€ Iuged I &1 994 Hifeie

(1) AJRREH Ul ¢ 3R, A S UgI 3T 8

(2) ASIRREH 4§, A R, A P1 U reA e &
3) ATEE AfFTRUE TR

(4) AUEITEIE APTRUAE

Options :

92090694313. 1
92090694314. 2
92090694315. 3
92090694316. 4

Question Number : 80 Question Id : 92090623862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List 11 ;

List 1 List 11

(A) Social Protection (I) The process by which people
act and react in relation to
others

(B) Social Reproduction (II) A Set of benefits to the
individuals or household to
reduce multidimensional
poverty and deprivation

(C) Social Stratification (III) The maintenance of power
and privilege between social
classes from one generation
to the other

(D) Social Interaction (IV) A system by which society
ranks categeries of people in
hierachy

Choose the correct answer from the options given below :

(1) (A)-(11I), (B)-(IV), (C)-(1), (D)-(1D)
2 (A)-IV), B)-(D), (O)-(ID), (D)-(I1T)
(3)  (A)-(D, B)-(ID), (C)-aV), (D)-(I)
@) (A)-0), B)-1), (©)-(I1), (D)-(IV)

Options :

92090694317. 1
92090694318. 2
92090694319. 3
92090694320. 4

Question Number : 80 Question Id : 92090623862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & a1y = 11 1 e S

- Gl I

(A) HHISP Y& () dg ulchal fSHe gRT Al U g8 & a1y
foran 3R ufafcran & &

(B) WTHIfSIP YASAIGH (1) Sguaty TRie qur g1 &1 W & & fag
URAR & gl &1 e &1 U 95=Id

(C) WIS TS () U N 8 g9 Gidl ab & gEifeid o &
aTe wfd a1 [AAwieRT &1 Say RaA!

(D) IS =1 fesan (Iv) 98 Ygld, {9 & grR1 9Hrs |l &l Sfow
&l Yermd § 4vft 95 SR8

At fau e fdeedi O ¥ Tel IR &1 9 Sifrg;

(1) (A=), (B)-(v), (©-(1), (D)-()
(2)  (A)-(IV), (B)-(1), (C)-(I), (D)-(lN)
(3)  (A)-(), (B)-(l), (C)-(IV), (D)-()
(4) (A1), (B)-(IN), (C)-(1), (D)-(IV)

Options :

92090694317. 1
92090694318. 2
92090694319. 3
92090694320. 4

Question Number : 81 Question Id : 92090623863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who is the author of the book * The Enigma of Capital (2009)?

(1) Ha — Joo Chang 2}  Andreu Gamble
(3 David Harvey (4) Jim Jackson
Options :

92090694321. 1
92090694322. 2
92090694323. 3
92090694324. 4

Question Number : 81 Question Id : 92090623863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

qEad ‘g U S Hited (2009) F TGP § -

(1) BISEm (2) T_YinEd
3) 3fsed 4) f&u SamA
Options :

92090694321. 1
92090694322. 2
92090694323. 3
92090694324. 4

Question Number : 82 Question Id : 92090623864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Under the Government of India’s flagship programme, “swachhata Abiyan”, the total
number of toilets (IJJAT GHAR) built in the country between 2014-2022 are

(1) 14 crore (2) 14.5 crore
{3} 11 crore {4) 8 crore
Options :

92090694325. 1
92090694326. 2
92090694327. 3
92090694328. 4

Question Number : 82 Question Id : 92090623864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WA TRPR & HolTg SIHH “Iaagdl A" & 3=aid a9 2014 ¥ 99 2022 & &9 29
H g9 T SrETad] (3id W) D od S 8

(1) 148 (2) 145
3) 1S 4) 8FUS
Options :

92090694325. 1
92090694326. 2
92090694327. 3
92090694328. 4



Question Number : 83 Question Id : 92090623865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The total number of Covid Vaccinations administered by Union government till now
in the country are:

(1) 210 crore (2) 220 crore
(3} 230 crore (4) 200 crore
Options :

92090694329. 1
92090694330. 2
92090694331. 3
92090694332. 4

Question Number : 83 Question Id : 92090623865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y T 3fd T g WHR gRI TR T Hifde Sl B Fd T ¢;

(1) 2103 (2) 220FI8
(3) 2303 (4) 200 S
Options :

92090694329. 1
92090694330. 2
92090694331. 3
92090694332. 4

Question Number : 84 Question Id : 92090623866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Land settlement was introduced by the British Govt. in the year

(1) 1757 (2) 1853
(:3) 1793 (4) 1857
Options :

92090694333. 1
92090694334. 2
92090694335. 3



92090694336. 4

Question Number : 84 Question Id : 92090623866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

foIeTe TP R R WA deiawd foby a¥ %= fogn mar Ut

(1) 1757 (2) 1853
(3) 1793 (4) 1857
Options :

92090694333. 1
92090694334. 2
92090694335. 3
92090694336. 4

Question Number : 85 Question Id : 92090623867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Policy of Green Revolution was initiated in the year

(1) 1962 (2) 1965
(3) 1968 (4) 1970
Options :

92090694337. 1
92090694338. 2
92090694339. 3
92090694340. 4

Question Number : 85 Question Id : 92090623867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gha wifa #1 Aifd fFa v 3= 31 718 i

(1) 1962 (2) 1965

(3) 1968 4y 1970
Options :

92090694337. 1



92090694338. 2
92090694339. 3
92090694340. 4

Question Number : 86 Question Id : 92090623868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The strategy during second five yvear plan (1956-61) was

(1) Development of Agriculture (2) Development of irrigation
(3) Focus on Health & Education (1) Emphasison heavy industry
Options :

92090694341. 1
92090694342. 2
92090694343. 3
92090694344. 4

Question Number : 86 Question Id : 92090623868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2ot Uerasfy GIsHT (1956-61) & SR ORI o |

(1) PP fasE 2) TS &1 fae™
(3) g gy e wad (4) HRI I W Id
Options :

92090694341. 1
92090694342. 2
92090694343. 3
92090694344. 4

Question Number : 87 Question Id : 92090623869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to the world bank classification system, economies are classified to
different income levels. Which one is correct range of defining lower-middle income
countries in term of us 3.

(1) % 1,025 or leas (2} % 1.026 and $4356
(3) $ 1,026 and % 4035 (4) § 1,026 and % 7508
Options :

92090694345. 1
92090694346. 2
92090694347 3
92090694348. 4

Question Number : 87 Question Id : 92090623869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fas de arffe=or yomell & AR srdogawa &1 Fffeur fdar Srar g1 Frafafefead & 4 o
g Uy $& uel # Fg-ne oy aret &30 & ufvuiiia $3 &1 Ut e 82

(1) $1,025 Y@l & (2) $ 1,026 37X $4356
(3)  $1,026 3R § 4035 4) $1,026 3R $ 7508
Options :

92090694345. 1
92090694346. 2
92090694347 3
92090694348. 4

Question Number : 88 Question Id : 92090623870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to latest Budget 2022-23, the exemption limit of income tax has been
increased upto

(1) % 8lakhs (2) ¥ 75 lakhs
(3) ¥ 7lakhs (4) ¥ B85 lakhs
Options :

92090694349. 1
92090694350. 2
92090694351. 3
92090694352. 4



Question Number : 88 Question Id : 92090623870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tmzazm-zz%wmmﬁ%@m%ﬁmﬁaﬁmﬁwzﬂ
T 87

(1) 8dRdIUY (2) 7.5 WRdBYY
(3) 7EEEIY @) 8.5 T IUY
Options :

92090694349. 1
92090694350. 2
92090694351. 3
92090694352. 4

Question Number : 89 Question Id : 92090623871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following 18 not used to calculate unemployment rate

(1} Number of emploved
(2) Number of unemployed
(3) Number of people attaining education

i(4) Labour foree

Options :

92090694353. 1
92090694354. 2
92090694355. 3
92090694356. 4

Question Number : 89 Question Id : 92090623871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrofalRed # 9 e Sug sRISTH] &3 &1 70T & forg &) fosan i 872

(1) SR U safaadi &t dem (2) ISR faaal & w@e
3) RenumesRaffamisiden (4 ot g

Options :



92090694353. 1
92090694354. 2
92090694355. 3
92090694356. 4

Question Number : 90 Question Id : 92090623872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tobin Taxis a Taxon:

(1) Transaction in the share market
(2} Transaction in the money market
(3) Trangaction in the Commodity market

(4)  Transaction in the foreign exchange market

Options :

92090694357. 1
92090694358. 2
92090694359. 3
92090694360. 4

Question Number : 90 Question Id : 92090623872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eifed o Fafaiad § ¥ 69 iR @ 914 aral 1 82

(1) YRR H a7 (2) &l aoR H oF-g4
(3) oK €GRH d4-¢H (4) facel He1 SOR | @-¢F
Options :

92090694357. 1
92090694358. 2
92090694359. 3
92090694360. 4

Question Number : 91 Question Id : 92090623873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following statements 1s false?

{1) The balanced budget multiplier 1s unity when taxes are lump-sum tax.

{(2)  The balanced bhudget multiplier is less than unity when taxes are ad valorem
taxes.

(3)  Tax multiplier is less than govt.expenditure multiplier

(4)  Tax multiplier is more than govt.expenditure multiplier

Options :

92090694361. 1
92090694362. 2
92090694363. 3
92090694364. 4

Question Number : 91 Question Id : 92090623873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prafafad # 9 SF- sy gl 22

(1) ST PR UHHI IR EId g, ol Hferd Soie Ture TS gidl &

(2) Ol B HAFUR R Bl 8, o Iford Soie U 3HTs GHH gl &
() TV TSR I O FH €Il §

(4)  TUTE WHR] Y oIS F P gl §

Options :

92090694361. 1
92090694362. 2
92090694363. 3
92090694364. 4

Question Number : 92 Question Id : 92090623874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Sustainable Development Goals are for the period:

(1) 2015-2020 (2) 2015-2025
{3) 2015-2030 (4) 2015-2035
Options :

92090694365. 1
92090694366. 2



92090694367. 3
92090694368. 4

Question Number : 92 Question Id : 92090623874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gad faerg asg 1 safi g -

(1)  2015-2020 (2) 2015-2025
(3)  2015-2030 4) 2015-2035
Options :

92090694365. 1
92090694366. 2
92090694367. 3
92090694368. 4

Question Number : 93 Question Id : 92090623875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : India 1z following action oriented policies to bring rapid

development while purposefully addressing climate changes.
Statement 1 : Climate change impacts are a result of the total accumulated

green house emissions,

In the light of the above statements, choose the correct answer from the options given

helow :

(1) Both Statement | and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is correct but Statement I1 is incorrect

(4) Statement | is incorrect but Statement I1 1s correct

Options :



92090694369. 1
92090694370. 2
92090694371. 3
92090694372. 4

Question Number : 93 Question Id : 92090623875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1wy RRu e €
®YA| ;.  HRd Sadryg uiad- R HIg 39 9 Gd g did faem @ & e sri=gei, o
&1 SRV ST & |

YAl Taaryg URadd & UHE $o died diF 8139 Iei & gRumd g1
SRIad Y |, - fu e fawed! ¥ @ 999 Sgad IR &1 994 Sl

(1) ®YF | R EE
(2)  ®UHI R NTH T §
(3) YT IUEIE AFAPUT N &
(4) YA TEd g, Al U 1| 98l 8§

Options :

92090694369. 1
92090694370. 2
92090694371. 3
92090694372. 4

Question Number : 94 Question Id : 92090623876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Narasimha Rao — Manmohan Singh model of economic reforms have

(1) increased growth and foreign direct investment
(2} benefited agriculture sector
() increased self reliance

(4)  reduced income — inequalities

Options :

92090694373. 1
92090694374. 2
92090694375. 3



92090694376. 4

Question Number : 94 Question Id : 92090623876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3nfifer faepra & RfReT va - e Rig ufesu @

(1) fAemaufedvgaFaudaigase
(2) FHAABIAHENE

3) SAfRTAIReE?

(4) i rHFTT Ul ©

Options :

92090694373. 1
92090694374. 2
92090694375. 3
92090694376. 4

Question Number : 95 Question Id : 92090623877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{A) Soil transmitted Helminthiases is known as parasitic intestinal worm
infection.
(B) The first Health and Wellness Centre was inaugurated in 2015,

(C) Avushman Bharat Digital mission aims at creating a secured online health
records of citizen.

(D) Under Universal Immunisation Programme immunisation is being provided
free of cost against 12 vaceine preventable diseases.

(E) The Social security expenditure on health has increased from 2 percent in FY
2015 to 15 percent of total health expenditure at present.

Choose the correct answer from the options given below :

(1}  (B). (C), (D) Only
(2}  (A), (B), (E) Only
(3) (A, (C), (D) Only
(4) (A, (C). (E) Only

Options :

92090694377. 1
92090694378. 2
92090694379. 3



92090694380. 4

Question Number : 95 Question Id : 92090623877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. e HaRd s o geelid] sz dad it Sou &gl ord &
B. VYW TRy 3R WRYYT s &1 Igured ay 2015 H fbar mar o1

2 %ﬂﬂﬂﬂ%ﬁ%ﬁfﬁmﬁﬂ&qwﬁﬁﬁﬂiﬁﬂ&ﬁﬂﬁqwmﬁ
GG I

D. i & fou 1o sieH & Sdid A R R IR0 9 | 12 A & [Aee
ﬁwa‘ﬁswﬂﬁﬁ%

E. a¥ 2015 ¥ WY W YHfd &1 g 2 Uiawd ¥ 9 o Wiyd g &1 15
fc=rd 81 g

1= fau o fawed] § 9§ 9gl 3T &1 944 P :

(1) &ddB,C, D
(2) PddA, B E
(3) &ddA C D
(4) HAAACE

Options :

92090694377. 1
92090694378. 2
92090694379. 3
92090694380. 4

Question Number : 96 Question Id : 92090623878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A): The World's largest vaccination programme against COVID — 19 was

launched in India on 1% December 2020,

Reasons (R): The Vaccination has played a key role in minimizing loss of lives in

India

In the light of the above statements. choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) 1s not correct but (R) is correct

Options :

92090694381. 1
92090694382. 2
92090694383. 3
92090694384. 4

Question Number : 96 Question Id : 92090623878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



419 €1 FY U U € U SfHEYA (Assertion A) & TY  H forfEd g df g8 ITF SR
{(Reason R}?ﬁm ﬁ,‘

HUBYT A - PIAS & 95 3y 1 98 981 Ad1Hxy HHH | fTHR 2020 B YR A
9= faar T uT|

HRUR dipru 4 YRd # afdadl &1 g9 arel g &1 Fgag &A § dgagy
it v

IR HY & 3Mdied 7, 19 Qv 0 fdedl § ¥ 998 Iugad Ik &1 994 SIS

(1) ASIRREH Ul & 3R R, A DI U6l AT &

(2) A SRREH Hel g Al R, A DI el IRSAT 76! &
(3) AU E PR U TR

(4) AUGITEIE AfPTRUSR

Options :

92090694381. 1
92090694382. 2
92090694383. 3
92090694384. 4

Question Number : 97 Question Id : 92090623879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Ginni coefficient is normally used to measure

(1) Inequality in level of development
(2} Inequality in the level of education
(3) Inequality in income

(4) Inequality in health

Options :

92090694385. 1
92090694386. 2
92090694387. 3
92090694388. 4

Question Number : 97 Question Id : 92090623879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl Turiee Judn rErga: fae! A & o far o 82

(1) oo w4 s
(2)  TRren &R A S
(3) SO ¥ HHF

(4) RO H SHHEHAEC

Options :

92090694385. 1
92090694386. 2
92090694387. 3
92090694388. 4

Question Number : 98 Question Id : 92090623880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At present India is the largest economy in the world :
(1)  4th (2) BHth
(3} Beo (4) A

Options :

92090694389. 1
92090694390. 2
92090694391. 3
92090694392 4

Question Number : 98 Question Id : 92090623880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y gHY YRd &I a4 o1 g el g
(1) 4d (2) sdf
(3) 6al @ 39
Options :

92090694389. 1
92090694390. 2
92090694391. 3
92090694392. 4



Question Number : 99 Question Id : 92090623881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Sum of the deviations from Arithmetic mean of all observations is alwavs

(1) Infinity (2) Positive
(3) Lero (4) Negative
Options :

92090694393. 1
92090694394. 2
92090694395. 3
92090694396. 4

Question Number : 99 Question Id : 92090623881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it U & SrTeTe e 9 f[agaHl &1 an guen EGEIG
(1) 3 (2) TS

3) ™ (4) FUTEHE

Options :

92090694393. 1
92090694394. 2
92090694395. 3
92090694396. 4

Question Number : 100 Question Id : 92090623882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Nobel laureate who helped India’s Green Revolution Programme immensely

(1) P.C. Mahanobis (2) Hargovind Khurana
{3} Norman Borlaug (4) Gurnar Myrdal
Options :

92090694397. 1
92090694398. 2
92090694399. 3



92090694400. 4

Question Number : 100 Question Id : 92090623882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ardd IR faorar, forei URd 31 gRd @ifd 7 R I8 31, 8

(1) dt weEE (2) BNfdE T
(3) A SRam 4) TRARsE
Options :

92090694397. 1
92090694398. 2
92090694399. 3
92090694400. 4



